Calculate stitch score(array?| 2| Bt H| WSt = =8 )

1 def stitch score(Segmentl, Segment2):
start_overlap = np.where(Segmentl.path == Segment2.path[0])[0]
;.# seg2 start node doesn't math.l with segl KUY segmentS] ST edgeQt WA= HEHE &S
if len(start_overlap) == 0: stitchScore =1 (X edge®t ZX|= segmentS 2 | 2|3}H7| SI3H)
# seg2 start node in segl
else:
if (Segmentl.path[start overlap[0]:] == Segment2.path[:len(Segmentl.path[start overlap[0]:])]).all():
overlap_ length = sum(Segmentl.length[start_overlap[0]:])
total_length = Segmentl.total length + Segment2.total length - overlap length
stitchScore = 1 - overlap length/total_ length
else:stitchScore = 1

return stitchScore

start_stitchScore time = time.time()
SC = stitch_score(segl, seg2)

print('stitch score = ', SC)
print('processing time : ', time.time()-start_stitchScore_time)
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stitch score = 0.8439658006952655
processing time : 0.0006804466247558594
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